@YREV-A-SHELF

Innovation through Organization”

12400 Earl Jones Way

Louisville, KY 40299
rev-a-shelf.com

Customer Service: 800-626-1126

INSTALLATION INSTRUCTIONS / INSTRUCCIONES DE INSTALACION / INSTRUCTIONS D’INSTALLATION
FIXED CLOTHES RAIL

RIEL FIJO PARA COLGAR ROPA / TRINGLE A VETEMENTS FIXE

FEATURES / CARACTERISTICAS / CARACTERISTIQUES

Fixed clothes rail. / Riel fijo para colgar ropa. / Tringle a vétements fixe.
PARTS / PIEZAS / PIECES DETACHEES

A. Clothes Rail / Riel para colgar ropa / Tringle a vétements

B. Side Supports / Soportes laterales / Supports latéraux

C. Rubber Gasket / Junta de goma / Joint en caoutchouc

D. 6.3x19 mm Euro-screw / Tornillo Euro 6,3x19 mm / Vis européenne de 6,3 x 19 mm
E. M5x25 mm Screw / Tornillo M5x25 mm / Vis M5x25 mm

F. M5x30 mm Screw / Tornillo M5x30 mm / Vis M5x30 mm

MAINTENANCE / MANTENIMIENTO / ENTRETIEN

Clean with a soft, dry cloth. Avoid using solvents or abrasive.

Limpie con un pano suave y seco. Evite usar solventes o abrasivos.

Nettoyer avec un chiffon doux et sec. Eviter d'utiliser des solvants ou des abrasifs.

Mida y preperfore los lugares donde deben ir los soportes laterales y centrales en funcion del tipo de instalacion que elija.

n Measure and Pre-drill locations for the side and central supports depending on your type of installation.

Mesurer et pré-percer les emplacements des supports latéraux et centraux, en fonction de votre type d’installation.

SIDE WALL INSTALLATION
INSTALACION EN LA PARED LATERAL / INSTALLATION SUR LES PAROIS LATERALES

min 250
o o o o
1 ]
[}
N
» Ll
(=}
FRONT
o o o o o

TOP INSTALLATION

INSTALACION SUPERIOR / INSTALLATION PAR LE HAUT

min 15

min 250

|| min15

1-W610-0425



PARTS: (A) Clothes Rail / Riel para colgar ropa / Tringle a vétements (E) 6.3x19 mm Euro-screw / Tornillo Euro 6,3x19 mm / Vis européenne 6,3x19 mm
(F) M5x25 mm Screw / Tornillo M5x25 mm / Vis M5x25 mm (G) M5x30 mm Screw / Tornillo M5x30 mm / Vis M5x30 mm

Fix the brackets to the cabinet. Depending on the mounting method, use the correct screw.

Fije los soportes al armario. Utilice el tornillo correcto en funcion del método de colocacién.

Fixez les supports a I'armoire. Selon la méthode de montage, utilisez la bonne vis.

SIDE WALL INSTALLATION
INSTALACION EN LA PARED LATERAL / INSTALLATION SUR LES PAROIS LATERALES

PARTS: (A) Clothes Rail / Riel para colgar ropa / Tringle a vétements

TOP INSTALLATION
INSTALACION SUPERIOR / INSTALLATION PAR LE HAUT

Find the measurement for “Y”. Then measure and cut the Clothes Rail to size, then add the rubber gasket to the rail.
Mida la distancia “Y”. A continuacién, mida y corte el Riel para colgar ropa segiin esa medida, y luego coloque la junta de goma en el riel.
Trouver la mesure de « Y ». Mesurer et couper ensuite la tringle a vétements a la taille, puis ajouter le joint en caoutchouc a la tringle.

SIDE WALL INSTALLATION
INSTALACION EN LA PARED LATERAL / INSTALLATION SUR LES PAROIS LATERALES

TOP INSTALLATION
INSTALACION SUPERIOR / INSTALLATION PAR LE HAUT

Cabinet Opening - 2Imm =Y
Apertura del armario - 2lmm = Y

Ouverture de 'armoire - 21 mm =Y

I 1

Outside of Side Supports - 2Imm =Y

Fuera de los soportes laterales - 21mm = Y

CABINET OPENING
APERTURA DEL ARMARIO / OUVERTURE DE LARMOIRE

|

I

I

I

I

I

I

:

! . .
! Extérieur des supports latéraux - 21 mm =Y
I

I

I

I

\

I

I

I

OUTSIDE OF SIDE SUPPORTS
FUERA DEL SOPORTE / A LEXTERIEUR DU SUPPORT

Insert the central support into the rail before mounting it. Insert the aluminum rail into the supports. Then install the central support to the cabinet.
Inserte el soporte central en el riel antes de colocarlo.Inserte el riel de aluminio en los soportes. A continuacion, coloque el soporte central en el armario.
Insérer le support central sur la tringle avant de la monter.Insérer la tringle d’aluminium dans les supports. Installer ensuite le support central sur 'armoire.

ﬂ<

12400 Earl Jones Way

Louisville, KY 40299
rev-a-shelf.com

Customer Service: 800-626-1126

@REV-A-SHELF

Innovation through Organization




